eLearn - Contents Page 1 of 1

DUCATO 2.0 16V FRAME AND CROSSMEMBER 4410D
Value - daNm Fastening Component Validity

17.3- 255 Inner bolt FRONT TRACK  CONTROL | M16x1.5 TT
15.6 - 22.5 Outer bolt FRONT TRACK  CONTROL | M16x1.5 T
22.9-33.2 Front bolt ZE%NT TRACK CONTROL| v1gx1.5 T.T
51-7.4 Lower nut éCN)-II;III\-IE(?'II:}_NG ROD BAR M12x1.25 T.T
8.2-11.9 Upper nut égLI'\]Fé(O:.II?}‘NG ROD BAR M12x1.25 T.T
18.1 - 24.8 Front bolt N AcE oo 0P | M16x1.5 TT
18.1 - 24.8 Rear bolt N e oo (0P| M16x1.5 T
11.9-17.2 Bolt EQ;VT'EF:\HNG ENGINE|114x1.5 T.T
9.6 - 14.1 Bolt steering box - T.T
7.7 -11.2 Bolt FRONT ANTI-ROLL BAR  |M12x1.5 T.T

file:///C:/eLearn/Web/tempcontent4.html 18/07/2021



